2
¥ —-x-6<0 _
AHEFA] O f7ta<x<bEEc<

o
4% —=8x+320

mlo

x<dDdWa+b+4c+d FH2?

® -2 @ 2 ® 3 @ 5 ®

N | Ot



2
HeEEa x*—x-6<0 L
o {x2—5x+4>0 < WEsh= Faoie 2 A A7E

@ 770 @ 671 @ 570 @ 4 7Y ® 374



HEeA x(x-1) < (x=1)(x—2) < (x=2)(x - 3) = TFA7]= x 9

3tel Wele?

D o<x<1 @ x<1 @ 0<x<2

@ x>2 ® 1<x<3



4.

re

g%

ol

2_3x-4<0
At o] o Fol A
2x2 - b5x< 3

Mae?

o
o

A

2~
a

1o

@ 07} @ 170 @ 274 @ 374 ® 4 7



kﬂ %94 7,'*—_1017]')6—1, X, x+1¢l /,‘:],'7_11-—-—
x©] k8 W7k a < x < bt T
29 Fe

i
@1

T



6. %3 A(4,-3),B(a,3) Aole] A=I7F6v2 & W, ¥4 a O] 322

@ 6 @7 ® 8 @ 9 ® 10



7. FEFWE o Al M A2, 0), B(3, a), C4, 2)°l sl AB = BC
A o, a9 22

@1 @ 2 @ 3 @ 4 ® 5



A A(-3,2), B(4,5)°4 22 A = x5 Y9 A pel 1
?

rr -

@ (-3, 0) @ (1, 0) ® (2, 0)
@ (-1, 0) ® (5, 0)



y=ux ?lol A3, = A A(1,6), B(2,-1) A Z& A=l 9=
ZEE (q,p) 2t T Y, 4+ b O] FEL?

N
Lo

S
wl oo

10 12
@3



£ ofd

AABC

=1
Sh=

A A4, 2), B0, ~2), C(=2,0) & BRHC

10.



524 99 = A(-1), B(5) ol HHete] ABS 2 : 12 WEshs
e P 3 22 9Ret: WL QY B 1), PQOl Yol & Faku?

O 14 @ 10 ® 16 @ 7 ® 18



12.

F A A, -3), B3, 7)oll tiste] ABE 2 : 3°0= YEst= H
P(a, b) 2}t 2: 302 Q&= H Q(c, d)ol st a+ b+ c+d 9
He?

134 116 134 116

@—? @—? ®T @T ® 20



AABC 9] Al A o] #3171 A (-1,-2), B(2, 5), C(7, 3) &2 5

13.

K o
e

® G(2, g)



14. 54 A(L 5), B(5, 3)°l thste] AP? + BP? 9] glo] H47} 5= 4
Po| HEL?

@D (4, 5) @ (3, 4) ® (2, 3)
@ (1, 2) ® (0, 1)



15. o O3 Zol ¥l A A(3, 1), B(4, 3), /] 5
Cla, ).0(0, 0)& HAHOZ Shegast | 49
HY OABCOA a + b 9] S F5toi=h /

A3,1)




16.

e«
o, >

(x1, ¥1), B (x2, y2)©ll thste] A& ABE
S Cg g o, A8 ACS A B Ate] 9] A



17.

A (2,a), (b,3) Z ol HEL2:12 Y
29

l,a+6) € o, a,b 2

D a=-6,b=5

@ a=5b=3

@ a=6,b=-5

®a=3,b=5

o
rir



A A4, -2), B3, 5) 2FH 22 72 =y A H P

ZRE FSHH?
® P(-2, -1) @ P(-1, 0) ® P(0, 1)

@ P(1, 2) ® P(2, 3)



19. 5 7 A(1,-3), B(L 2r) ol iste] A% AB 9] Zoe] H4ghe?

@ 2 @ V5 ® V7 @ 2v2 ® 3



,_._mo

ACQl ol sRiAZ

@ AB=



